A & 0l & AFE B Al A

>

t

T

20259 & =04 A JI=EE

F
e
r

=)

SA: JISEA
By sEDsAY
el AEEY XA (EERSED)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
Jl=edn 18,918,588 18,357,221 561,367
= 3,244,045
= 56,900
Jl 1,478,500
& 4,529,815
Al 9,609,328
SFES Bt 5,352,927 5,822,898 A469,971
= 46,550
7l 1,440,000
= 77,085
Al 3,789,292
A3 X 71,898 71,898 0
AEHsEH 71,898 71,898 0
201 28t=3| 5,000 5,000 0
02 S5=4H| 5,000 5,000 0
A=otsed NLEFE 2/ 3,000
012410l MANSE FE 22| 2,000
307 2I2+0| ™ 66,898 66,898
02 2B AEE X 13,000 13,000
NEISEE s 10,000
HEHEE EA € =LHUF 3,000
03 RIZIFHMHIE2SHIEX 47,898 47,898 0
A=orsadElls 29 47,898
-2gH| 2,600
-2l 45,298
04 QIZHHAIAIHE X 6,000 6,000 0
AHIsEd EE23 6,000
2FuE A 90,000 100,000 10,000
& 12,000
Al 78,000
JI2HstusdE 23 50,000 50,000
307 2I2+0| ™ 50,000 50,000 0
05 QIZIRIE= 50,000 50,000
=t SHE 23| 50,000
ANEeZusHE X2 40,000 40,000 0
= 12,000
Al 28,000
307 212t01 ™ 40,000 40,000 0
= 12,000
Al 28,000
02 QIZHHAAIEE X 40,000 40,000 0
Agetdusde X2 40,000




S J|ZEFY
Ha: sABSAUL
gelr sdus =8 CEEEN
A - B O9|(30) - HRAKY - BaS Ol &k Gl HImE=2t
[ 12,000
Al 28,000
55 2 8,685 213,563 N204,878
olgs 2| 8,685 13,563 4,878
101 Q124 8,185 8,063 122
M IIHR22IEES 8,185 8,063 122
2YH GAZNPE X t 8,185
-JlE= 80,240 %2 X x40 ! 6,420
=== 40,120 %2 X x 142! 1,124
P = 40, 12021+224+32 241
-S| 5,00024x284x402 400
201 LB 500 5,500 5,000
01 AFR22IHI 500 5,500 5,000
2P HGAISXRY =0 E=2E 500
MES 55 182,675 545,613 A362,938
SMOMESE PHIC 2 182,175 521,113 338,938
101 Q124H| 30,425 29,993 432
04 2RISR 30,425 29,993 432
SHOMES S HIAHK 30,425
-IFY 80, 2402 % 12252 18,054
=54 80,2402 x 1% %4521 3,611
-5 120, 3602 * 1 Hx452! 5,417
= PNy 80,2402%1%Hx10L 803
-S| 140,000 1112 1,540
~HEEIM 500,000 * 123 1,000
201 LB 52,300 38,850 13,450
01 AF222IH 18,700 16,200 2,500
SHOHESS PHICH AFRA 2 WERD
22| 4,000
SHOMESS PRI WRHE HMA
3= 25 8,000
MHXE 22 L =l 4,000
SHOHESE PRI =EJc]
9,0002*3H 100 2,700
02 222 33,600 22,650 10,950
STHOMESS PHICH AFRA L WER)
s5Rs 500,000 %123 6,000
SHOHESE RIS +BEE
400,000 45 18,000
SMOHESE PHIC X2 SR
400,000 %20 * 122 9,600
202 O4H| 3,000 3,000 0
01 2LH0H| 3,000 3,000 0
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A J1ZSHD
Ha: sABSAUL
CHel: OMMSE 25(8%) (crol: 12
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
] Al 5,775
EEENTRES 146,000 147,400 A1,400
= 3,300
[ 4,110
Al 138,590
OMMES TIGHOE X (EX) 10,400 10,600 2200
[ 3,120
Al 7,280
206 =l 7,600 7,800 A200
[ 2,280
Al 5,320
01 2HI 7,600 7,800 A200
STHOFMSE TIHZZMOITIM) XL 7,600
[ 2,280
Al 5,320
301 LBIEAS 2,800 2,800 0
[ 840
Al 1,960
14 JIEtE A2 2,800 2,800 0
STOIMS2R Q15 SE2 Tisi2A 2,800
[ 840
Al 1,960
OHESZ TITHOIE: AR (XHAI) 129,000 129,000 0
206 M=l 15,000 15,000
01 XHEH] 15,000 15,000 0
OHMEE TSHZ2H X
30,0002 +2IH*250H 15,000
301 LBEAS 114,000 114,000 0
14 J|EI2 A S 114,000 114,000
ORESE TITHOIZAIL 2R X2
3,000,0002%30% 90,000
OHSE X2 TG4
1,000,0002/ %20 20,000
OMMES QIHTIGH 24
1,000,000 %43 4,000
OHM=S TIGHOIZAIA AL (ZHIEX) 6,600 7,800 AT1,200
= 3,300
[ 990
Al 2,310
301 LBE A3 6,600 7,800 AT1,200
= 3,300
[ 990
Al 2,310
14 J|EI2 A3 6,600 7,800 AT1,200




SN J|EEAD
M HADSUL
Sl OHSE Tojo (ol mz)
SA - B SR(E) - HIRAIY - BAS oy Gl inE=Et
OFHSE TICHHIZAIZA 6,600
= 3,300
= 990
Al 2,310
MEN A WE M2 EIXIAY 40,000 58,500 218,500
= 20,000
= 6,000
Al 14,000
MEFH Wt M= EIXIAY 40,000 40,000 0
= 20,000
= 6,000
Al 14,000
101 2244 40,000 40,000 0
= 20,000
< 6,000
Al 14,000
04 JIZtH22 XS E= 40,000 40,000 0
MEH wet M= EIXIAL 40,000
= 20,000
< 6,000
Al 14,000
A G I ol 2 Al 1,640,000 1,640,000 0
Il 1,440,000
< 48,000
Al 152,000
HiloiM=0 1,600,000 1,600,000 0
Il 1,440,000
< 48,000
Al 112,000
301 LBtE2NS 1,600,000 1,600,000 0
Il 1,440,000
= 48,000
Al 112,000
01 Al 2EEGIZ(FDEZN) 1,600,000 1,600,000 0
S TIGH A 1,600,000
Il 1,440,000
= 48,000
Al 112,000
SOETIGHAF AZ2el AbIA A 40,000 40,000
308 AHXIEHHSOIA 40,000 40,000 0
07 MXIEM2RE= 40,000 40,000 0
AEUIHA H22te] ABIA AL 40,000
SEAAE2CIEE RS AL 3,127,169 3,008,824 118,345




SN =B
I HAD5UL
chel: SZEAAL2AL|SE ¢ (Crel: & 2l)
SA - EHH - SR(E) - HRAI - BES o Gl imE=T
AE2te|SE ASAIZHI 3,127,169 3,008,824 118,345
308 MAIHSOIH 3,118,669 2,997,374 121,295
13 SI12S0iIthet 3,118,669 2,997,374 121,295
SEAANE S 3,118,669
-dEs2 61,328
-ERXlclAlE 194,461
—JIEEEXCAIE 2,862,880
403 AXIEHSKH=0] 8,500 11,450 22,950
02 SI12S0ItHEt A= 8,500 11,450 22,950
SYAAE2SE Xt 8,500
-JIEE2EX Al 8,500
des2 xd 4,538,794 0 4,538,794
& 3,238,794
Al 1,300,000
25 U3 TdAI 4,538,794 0 4,538,794
& 3,238,794
Al 1,300,000
25 MEHSETEA( 4,238, 7% 0 4,238,794
= 3,238,794
Al 1,000,000
401 AIZHIZ 20| 4,238,794 0 4,238,794
= 3,238,794
Al 1,000,000
01 Al&H] 4,213,794 0 4,213,794
PYs MESE = 4,213,7%4
< 3,222,544
Al 991,250
03 AIZ=0HI 25,000 0 25,000
2ds MES¥ 25,000
& 16,250
Al 8,750
45 des® xgA 300,000 0 300,000
401 AIZHIZ 20| 300,000 300,000
01 Al&H] 300,000 0 300,000
285 dEsE TdA 300,000
BASETAl US 40,000 25,500 14,500
BASEHZAl U8 X3 40,000 25,500 14,500
EASEEZAl 2 X2 40,000 25,500 14,500
201 et23| 40,000 3,500 36,500
01 Al 22| 40,000 3,500 36,500
BASEHTTA 30,000
BASEHTTA 10,000




SN =B
HE: =M
el JIZEe WERFA (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
SMEE 3,663,667 7,800,687 24,137,020
= 1,410,420
Jl 38,500
= 714,510
Al 1,500,237
JI=HEa A 352,855 457,667 104,812
= 139,420
= 42,600
Al 170,835
SSRE 24t UK SE22H KR (EX) 12,000 12,000 0
= 3,600
Al 8,400
207 AR 12,000 12,000 0
& 3,600
Al 8,400
01 H7EAH 12,000 12,000 0
SESFE 24ItA WX SH22H KA 12,000
& 3,600
Al 8,400
OEl0l S&xtaol LPGRE M& X3 At (ExX) 3,000 10,000 27,000
= 1,500
Al 1,500
402 212tXH=01H 3,000 10,000 A7,000
= 1,500
Al 1,500
02 BIZAHE ARG 2 X (01X THS) 3,000 10,000 A7,000
01210 SEHRI2L0| LPGRE HE XA
3,000,000 *1CH 3,000
= 1,500
Al 1,500
IHEE HAsABLY BESAY 13,200 9,600 3,600
= 7,920
Al 5,280
402 212tXH=01 S 13,200 9,600 3,600
= 7,920
Al 5,280
02 BIZAHE ARG 2 (01X THS) 13,200 9,600 3,600
B H=A 2UY FBAN(HASS)
600, 0002 +22CH 13,200
= 7,920
Al 5,280
SNl SFIIEAE 280tA HHEX KM 2 42,655 336,546 £293,891
201 Let23| 20,655 296,546 N275,891




SN =B
HE: =M
Elr J1=Bst A (che]: X Sl)
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
01 A2t 20,655 20,655 0
st=1c4 BHEZAIE Al & HWE
CISA 23t 655
220tA HHES SAIA & MEAHEN HE 20,000
207 AR 22,000 40,000 18,000
01 A= 22,000 40,000 18,000
20t HHEH M SBAM Bd & TS 22,000
M3XH Al J1=20| HSUH = 22,000 0 22,000
207 AR 22,000 0 22,000
01 H7EAH 22,000 0 22,000
RIBZE 2EAl J1=200] HSUH 22,000
=R FHAYAHS NS KEA 260,000 0 260,000
= 130,000
& 39,000
Al 91,000
401 AIZHIZL S0 260,000 0 260,000
= 130,000
= 39,000
Al 91,000
01 Al&H] 260,000 0 260,000
=R FHEAS NS AEA 260,000
= 130,000
= 39,000
Al 91,000
EASE AE F& 30,000 30,000 0
& 9,000
Al 21,000
BASE Mg Ad - 2o XA 30,000 30,000 0
& 9,000
Al 21,000
201 Let23| 30,000 0 30,000
= 9,000
Al 21,000
03 A2 EH] 30,000 0 30,000
BASE d2 4 S XEAY 30,000
= 9,000
Al 21,000
SMEE JIEE 2= 88,000 30,900 57,100
SFNHEES R 81,000 28,900 52,100
201 er23| 81,000 28,900 52,100
01 Al 22| 58,000 13,600 44,400
BEMNEREE DN &8 L S§
7,000,000& %23 14,000
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2AM:
X{XH -
o /e

cH):

JI=E3

= AHAY K}

T o o
EAMOIEN 29

HEE

SA B BRI(E) - NRAY - BAS ol &t G HIDE2
A 6,000
14 JIERAS 12,000 12,000 0
TSR EATOIER QIMEE 12,000
p 6,000
Al 6,000
ELHEAEYEOIER (B2 YA) QHEE g 47,200 0 47,200
= 14,160
Al 33,040
301 LerEaEa 47,200 0 47,200
= 14,160
Al 33,040
OIErEaz 47,200 0 47,200
EUSEASYTOIER(EANA) QMES 47,200
= 14,160
Al 33,040
FEE Next 22 3,028,690 7,203,120 A4 174,430
= 1,271,000
= 639,000
Al 1,118,690
HINSIHEE) 22AL 1,000,000 2,167,000 A1, 167,000
= 300,000
= 300,000
Al 400,000
402 QI2IXH=0[ A 1,000,000 2,167,000 1,167,000
= 300,000
= 300,000
Al 400,000
02 DIZHIZ A2 E (01 A TR ) 1,000,000 2,167,000 1,167,000
HIRNSIHSE) 2SAL
10,000, 00024 100CH 1,000,000
= 300,000
= 300,000
Al 400,000
HINSKH(BI2) 22AL 1,330,000 3,700,000 2,370,000
=2 700,000
= 189,000
Al 441,000
402 QI2IXH=0| A 1,330,000 3,700,000 2,370,000
=2 700,000
= 189,000
Al 441,000
02 DIZIRFZ AN 2 (01 A TH ) 1,330,000 3,700,000 22,370,000




SM: JIE8A
HE: =M
Chol: ZIS NEX 22 (crol zi21)
SN B O9(3H) - MBEAR - BAS Ofl o Gl MMinE="T
DINSRHEIE) BoAY
19,000, 000& *70CH 1,330,000
= 700,000
= 189,000
Al 441,000
MI|0IEX ESAY 32,000 97,600 65,600
= 16,000
Al 16,000
402 QI2EXIE20| ™ 32,000 97,600 65,600
= 16,000
Al 16,000
02 QIZHKIEZ2AIE EZ (0| MTHLY) 32,000 97,600 265,600
&II0|EX BESAIS
1,600,000 *20CH 32,000
= 16,000
Al 16,000
HMIIHA BE2AHS 660,000 1,230,000 570,000
= 255,000
& 150,000
Al 255,000
402 SIZHXIE0|M 660,000 1,230,000 A570,000
= 255,000
& 150,000
Al 255,000
02 QIZHKIEZAIE EZ (0| ML) 660,000 1,230,000 A570,000
HIIHA B3AKS 205,000,000 *2CH 410,000
= 140,000
& 100,000
Al 170,000
HIHA(MRI0|ESESE) BESAIY
250,000,000 = 1CH 250,000
= 115,000
& 50,000
Al 85,000
&EE Asi B2SX3 6,690 8,520 A1,830
201 LBt AHH| 6,690 8,520 21,830
01 AFR2t2ld| 6,690 8,520 A1,830
HIIXSK BESAIY &8 S8 H&
70,0003 *17HAx13] 1,190
MZ2oAsSAE EX HIE
2,000&*1,500&*13] 3,000
HBAX BHTH Ch O A
250,000 %1002 2,500
OISR & DIRIESE M2ZAIS 37,922 0 37,922




SM: JIE8A
HE: =M
chel: DIMIZIX 2 ODIQYSE HAI (crof: &2))
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
OIMZX Nz &2 & K& 37,922 37,922
201 Let23| 37,922 37,922
01 Al 22| 19,382 0 19,382
HSRX HeI2AA £42
42,9002 *4CH 172
C2IRA HA S0
15,300&+1,100A 16,830
OIMIEAl N2ZAIY 82 S+=%
70,0008+ 1774 4%224 2,380
02 S324H| 18,540 0 18,540
IEAEHA )2 & Stz
200, 0002+ 122 2,400
ISEMBT &) L SMZ S
15,0003 1304 Ax 123 2,340
DIMOIX MEE &) L SA2 S
400,000&*12& 4,800
DINIRIR ®BE SN2+
500, 0003 * 18I 2 9,000
SAHFLHEEE M 3,782,876 3,043,115 739,761
= 1,787,075
= 56,900
S 486,864
Al 1,452,037
USRI BISIHA M2 3,234,149 2,599,082 635,067
= 1,617,075
& 428,994
Al 1,188,080
SERX ZIIHXE KA (5E52) 800,000 502,400 297,600
= 400,000
= 120,000
Al 280,000
301 Et2MS 800,000 502,400 297,600
= 400,000
= 120,000
Al 280,000
14 JIEt2d= 800,000 502,400 297,600
=&AL ZIIHT N
1,600,000 +500CH 800,000
= 400,000
= 120,000
Al 280,000
SR DIHA XFAS(4S2) 1,850,000 1,328,300 521,700
= 925,000
= 277,500
Al 647,500




SA: JIEEE
HI: SAQAUSE AP
el AR HHEILA M2 (cro): =2l
SA - EHH - SR(E) - HRAI - BES ofl e Gl imE=T
301 LBIEAS 1,850,000 1,328,300 521,700
= 925,000
[ 277,500
Al 647,500
14 J|EtE A 1,850,000 1,328,300 521,700
LCSARX RI|HIX X
3,700,000 %500CH 1,850,000
= 925,000
[ 277,500
Al 647,500
AEDH ZOIHX KA (XA, 24400) 205, 150 130,550 74,600
= 102,575
[ 30,773
Al 71,802
301 LBtEEa 205, 150 130,550 74,600
= 102,575
[ 30,773
Al 71,802
14 J|EtE A2 205, 150 130,550 74,600
CSALI|H RIIEX K
3,730,000 %554 205,150
= 102,575
[ 30,773
Al 71,802
28I} DPF & XA 13,200 141,900 A128,700
= 6,600
Al 6,600
402 QI2EXH201 ™ 13,200 141,900 A128,700
= 6,600
Al 6,600
02 DIFHKHZ A B (OI A TS ) 13,200 141,900 A128,700
2t OPF 22 K& 3,300, 000 =4 LH 13,200
= 6,600
Al 6,600
AEIH HZHER ALY 346,000 492,500 A 146,500
= 173,000
Al 173,000
402 DI2EXH20l ™ 346,000 492,500 A 146,500
= 173,000
Al 173,000
02 DIZFHKH2 A E X (O MTHE) 346,000 492,500 A146,500
A& X nH X
16,500, 0002 * 18CH 297,000
= 148,500
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A J1ZSHD
HM: BHQASE MFAP
Chel: S|ART} HISIHA M2 (Crof: M2l
SA B E(BH) - HRAY - BES Ol &k Gl HIDS2
[ 108
Al 252
1E512x =3t HE XA 15,000 0 15,000
= 7,500
Al 7,500
402 Q12+ RH20IH 15,000 0 15,000
= 7,500
Al 7,500
02 DIZEXH2 A E X (O A THE) 15,000 0 15,000
1E512% ds3 HE X
15,000, 00024 1CH 15,000
= 7,500
Al 7,500
teize) 491,576 384,992 106,584
= 170,000
z 56,900
[ 57,870
Al 206,806
. EX LEEA A 64,316 92,992 N28,676
201 L2 A 51,020 76,960 A25,940
01 AFR22IHI 23,520 33,420 9,900
EAQAENAH| HALS2
200, 0002 +6CH 1,200
LOIGHH TR X2 L HEH42
1,200,0002% 1074 A 12,000
FEAANR HEE 2 Rl
2,000 %4074+ 12 960
BIAZAIC 3|9 EACH
130,000 %1263 9,360
02 2229 27,500 43,540 216,040
SAQASHAH| X 22/
1,250,000 %23 2,500
SRS S22l 25,000
202 O4H| 12,000 14,880 A2,880
NENE 12,000 14,880 A2,880
EAQY Chx 12,000
301 Y2 A S 1,29 1,152 144
EEINEE] 1,29 1,152 144
EIHZAIC 319 EAX AHIXIY
9,000 *x24H*63] 1,2%
AFD AIIE UXAE LXK ALY 306,000 90,000 216,000
= 170,000
[ 40,800
Al 95,200




SN JISEADL
M BYOHSH

2
0z
i
o

chel: 0|2 (Crol: X 21)
SA - EHH - SR(E) - HRAI - BES Gl imE=T
402 QI2F 20| ™ 306,000 90,000 216,000
= 170,000
[ 40,800
Al 95,200
02 DIZEXH2 A E X (O A THE) 306,000 90,000 216,000
ATD AFSE XA XX ALY 306,000
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